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Note:-  You have four choices for each objective type question as A, B, C and D.  The choice which you think is correct; fill 

that circle in front of that question number.  Use marker or pen to fill the circles. Cutting or filling two or more circles 

will result in zero mark in that question.

( D ) ( C ) ( B ) ( A ) QUESTIONS Q. 1

3-by-2 2-by-1 1-by-2 2-by-2 ���������

Which is order of a square matrix?

1

5+4i 5-4i -5-4i -5+4i The conjugate of 5+4i is ___ ������ 5+4i 2

0 e 10 1 
	��	������

The logarithm of unity to any base is 

3

In ���	


equation

Equation ��	
 Sentence �� Expression � 	����� 4x+3y-2

4x+3y-2 is analgebraic ____

4

16 4 -8 8 �������	� x2+4x+m �
��� m 

Find m so that x2+4x+m is a complete square

5

a+1 a-1 + (a-1) + (a+1) �	����� a2-2ab+1

The square root of a2-2ab+1 is ___

6

Non of these -2 -8 ���	
����� 3-4x<11

Which one is solution of the in equation 3-4x<11 

When

7

(-1,-1) (1,1) (-1,1) (1,-1) �� (x ,y) �� (x-1 , y+1) = (0,0)

If (x-1 , Y+1)=(0,)) then (x , y) is

8

2 1 0 ���������� (0,1) 	�� (1,0) �

Distance between points (1,0) amd (0,1) is 

9

4 3 2 1 ����������
How many end points has a  ray?

10

mL3 mL4 mL2 mL1 mL1=��ABCD �	��	
��

In parallelogram ABCD ,mL1=____

11

	���
Equal

distance

��

Concurrent

���

Perpendicular Equal

����
�	��
������
The bisectors of the angles of a triangle are 

12

4 3 2 1 How many         ������������
 lines can be drawn through two points

13

3 cm2 27 cm2 9 cm2 18 cm2 �����������

3cm                        

6 cm                                              

What is the area of given figure

14

1:1 2:1 3:1 4:1 ������� �	��������������
The medians of a triangle cut each other in
the ratio____

15

Re
su
lt
.P
K

http://www.result.pk


� ��� 2012-13 ��� �� ������

(I) ���
60 �� � 2.45 ���

Part ------------------------------- I zzzzXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXZZZZzzzzwwww

2. Answer briefly any SIX  parts from the following           6x2=12     ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃððððÐÐÐÐbbbbZZZZ™™™™,,,,XXXX XXXX2

 Define symmetric matrix             

���
 	��������� (i)

Find the product of                                   �������� (ii)     

Define rational numbers  �	�	������� (iii)     

 Write  in the form of a+bi                                ����� a+bi � (iv)     

Find the value of x                 �������� x �� (v)  

   Calculate   ����� (vi)     

Simplify ���� (vii)

Factorize  27+8x3                   27+8x3 ����� (viii)     

 Simplif y ���� � ix�

3. Answer briefly any SIX  parts from the following           6x2=12     ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃððððÐÐÐÐbbbbZZZZ™™™™,,,,XXXX XXXX3

Solve |3x-5| = 4 |3x-5| = 4 ��� (i)

  Solve the in equation          3x+1 < 5x - 4              ,3x+1 < 5x - 4 ���	
���� (ii)     

 Define Cartesion Plane ���������� (iii)    

Define line segment.       ������� (iv)     

Find the distance between two points A and B. When A(9 , 2), B (7 , 2) ����
������������ B 	�� A� (v)  

Find the mid point of the line segment joining A (2 , 5)  and  B (-1 , 1) ������� A (2 , 5)  ,  B (-1 , 1) ��� (vi)     

Find the unknown values of x and m

for the given congruent triangles

��	����� x 	��  m ���
�� (vii)   

   Define median of a triangle            ����� �	����� (viii) 

      Find the H.C.F of expressions   39 x7 y3 z and 91 x5 y6 z7 �
�	�	����� (ix)

4. Answer briefly any SIX  parts from the following           6x2=12     ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃððððÐÐÐÐZZZZ™™™™,,,,XXXX XXXX4

In figure, P is any point lying away

from the line AB, then m PL will be

the shortest distance if mL pLA=90 

��� A B ���� P ��

�����
���	 A B �m P L : ��

mL PLA=90 

(i)   

Define similar triangles. �
�����
��


����� (ii)     

Define Ratio. ������ (iii)     

������	���� �		
	�	��� a=5cm , b=12cm, c=13cm ��	�����
 (iv)     

    Verify that the following measures of sides are right angled triangle   a= 5cm  ,  b = 12cm   ,   c = 13cm  

What is Pythagoras Theorem.  �����
�
	
������� (v)  

     Define bisector of an angle.                 ��	������� vi�
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-- (2) --

Define Rectangular region.                     
�������
	

	������� (vii)   

Define Incentre.                                                                                          �������� (viii)    

  Construct  �ABC, in which             m AB = 3.2cm , m BC = 42cm , m CA = 5.2cm          ���� ABC� (ix)

Part ------------------------------- II zzzzXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXŠŠŠŠzzzzxxxx

8X3= 24  ÑÑÑÑiiiiòòòòììììXXXX 9 ÃÃÃÃððððÐÐÐÐ&&&&ÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ™™™™,,,,XXXXppppÎÎÎÎZZZZwwww���� ââââ^̂̂̂XXXX
Note: Attempt any Three questions. but question 9 is complasery 

Solve the equation by Crammer rule                  ������	�
��	������������ �5

  Simplify  �� ���

Find the value of   by the logarithm            �	����������� ��	�� 6

If 2x-3y=10 and xy=2, then find the value of 8x3-27y2.              ������ 8x3-27y2 �� xy=2 	�� 2x-3y=10 ���

Factorize cublic polynomial by factor theorem          x 3+x2-10x+8     �������������	����
����� ��	�� 7

��
���� ���

    Simplify as a rational expression �

Solve the equation and check for extraneous solution.          ��	
���	��� ��	�� 8

 m AB = 4.8cm , m BC = 3.5 cm , m AC = 4cm and draw its median ���� ABC�� ���

Construct a ��ABC in which m AB = 4.8cm , m BC = 3.5cm , m AC 4cm and draw its medians. 

Find the length of the diameter of the circle having centre at C (-3 , 6) and passing through P (1 ,3) .

�����	�����������
����	���	� ��	�� 9

Any point on the right bisector of a line segment is equidistant from its end points

�� OR ��

Triangles of equal bases and of equal attitudes are equal in area. 	��
����	��	�	�
�������
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